10 11

FRONT VIEW

THIS DRAWING IS THE SOLE PROPERTY OF HDJ WOOD CREATIONS

AND IS RESTRICTED TO PERSONAL USE BY MEMBERS OF WORLDWIDE
WOODTURNERS GROUP. COMMERCIAL USE IS PROHIBTED AND SUBJECT
TO COPYRIGHT INFRINGEMENT.

N : N

N

SIDE
VIEW

S0X20)

Z\

PROJECT:

STEADY REST -18" SWING LATHE

PAGE:1 OF 4

DRAWING TITLE:

GENERAL ARRANGEMENT

HDJ WOOD CREATIONS
DRAWN BY:
H.D.JOHNSON

REV:

0

DATE:
8 DEC 2023

1 2 3 4 5 6

8 9

10 11




1 2 3 4 5 6 7 8 9 10 11
22.5°r 08 DETAIL "A"
| 16" STEADY REST
! WAY GUIDE ,,
\
1/4" HOLES
/ ;aziﬁgzg%é% @ﬁ;ag,igg;@w
SCREWS
/ 3in
iln  SWING 10gn
1%in
10:% in )
g3in MATERIALS:
i35° SPINDLE /\ \ 1-1/4", 14 GA SQUARE TUBING- 7'
J N 4.4 1/4 X 3" X 19" PLATE
5%in S 1/4" X 1-1/2" X 3" PLATE
S8 16 TP X1 112" 1/4" X 1-1/2" X 2-3/4" PLATE
\ HEX ?%;0 Pl D 3/8", 16 PTI X 1-1/2" HEX BOLT
, 1/4", 20 PTI X 1/4" TAPERED
~ SRR 7. SHOULDER SCREWS - 3 EACH
T X2 X 5 3/8", 16 TPI HEX NUT - 1 EACH
1/4" X 3" X 18-9/16" 38" 16T FLAT PLATE .
BASE PLATE. . HE)& NUT ‘ a 1/§'E>I(52D3E/1"AIL A
ol FLATANCHORALATE STEADY REST -18" SWING LATHE
| ‘ 16 " -
\. | ‘ |
1% in { 278" HOLE \ [ PAGE: 2 OF 4
I A WITH 1/4", 20 TPI THREADS | DRAWING TITLE:
1
inl"l T ‘ !
THIS DRAWING IS THE SOLE PROPERTY OF HDJ WOOD CREATIONS FRAME AND BASE
AND IS RESTRICTED TO PERSONAL USE BY MEMBERS OF WORLDWIDE HDJ WOOD CREATIONS
WOODTURNERS GROUP. COMMERCIAL USE IS PROHIBTED AND SUBJECT DRAWN BY: REV: [DATE:
TO COPYRIGHT INFRINGEMENT. H.DJOHNSON 0 | 8DEC2023
1 2 3 4 5 6 7 8 9 10 11




DETAIL"A"

WHEEL ARM WHEEL
WELL TOP VIEW

55 in
23/4" 0D, 5/16" ID
INLIN SKATE WHEEL

5/16" ID, 1/2" OD.
NYLON WASHERS

\ 5/16" WHEEL AXLE
e CENTER LINE
MATERIAL:
_ DETAIL "A" SQUARE TUBING, 1 1/4",14 GA- 5 1/2'
WHEELS, 2 3/4" DIA, 5/16" AXLE INLINE SKA
WHEEL AXLES- 4 EACH 5/16",18 TPI X 2"

HEX BOLTS, PARTIALLY THREADED
SHANK

5/16", 18 TPI LOCK NUT-4 EACH

5/16" NYLON WASHERS-8 EACH

— SPINDLE

11/4", 14 GA
SQUARE TUBING

S -

—

e

PROJECT:
STEADY REST -18" SWING LATHE
PAGE: 30F4
DRAWING TITLE:
THIS DRAWING IS THE SOLE PROPERTY OF HDJ WOOD CREATIONS WHEEL ARMS
AND IS RESTRICTED TO PERSONAL USE BY MEMBERS OF WORLDWIDE HDJ WOOD CREATIONS
WOODTURNERS GROUP. COMMERCIAL USE IS PROHIBTED AND SUBJECT DRAWN BY: REV: [DATE:
TO COPYRIGHT INFRINGEMENT. H.D.JOHNSON 0 8 DEC 2023

1 2 3 4 5 6 7 8 9 10 11




4 EACH 1/4", 20 TPI

HEX NUT WELDED
TO SLEEVE
11/2", 14 GA MATERIAL: ;
SQUARE TUBING SQUARE TUBING, 1.5" X 14 GA -2 FT.
WELDED TOFRAME HEX NUTS, 1/4" 20 TPI - 16 EACH
KNOB BOLTS =1/4",20 TPI X 1" - 16 EACH
PROJECT:
STEADY REST -18" SWING LATHE
PAGE: 40OF4
DRAWING TITLE:
WHEEL ARM GUIDES
THIS DRAWING IS THE SOLE PROPERTY OF HDJ WOOD CREATIONS
AND IS RESTRICTED TO PERSONAL USE BY MEMBERS OF WORLDWIDE HDJ WOOD CREATIONS
WOODTURNERS GROUP. COMMERCIAL USE IS PROHIBTED AND SUBJECT DRAWN BY: REV: |DATE:
TO COPYRIGHT INFRINGEMENT. H.D.JOHNSON 0 18 DEC 2023

1 2 3 4 5 6 7 8 9 10 11




